ASSIGNMENT
CLASS-XII
BIOLOGY

Chapter-l: Reproduction in Organisms.

(1)A moss plant is unable to complete its life cycle in a dry environment.
State two reasons. ' |

(2)Why are the plants raised through micropropagation termed as
somaclones. Mention two advantages of this technique.

(3) With which type of reproduction do we associate the reduction division.
Analyse the reasons for it.

(4) What will you do to convert a bisexual flower into a female flower so that
it is cross pollinated artificially by the pollens of some other plant.

(5)In an experiment, Mr. John dissected a large potato tubes into several
small pieces & then placed each piece in a separate pot for
germination. After few days, he observed that a few pieces germinated
& developed new-piants. The others did not germinate at all. Give
possible reasons.

(6)a) What is common between vegetative reproduction & apomixis.

b) Name the organisms in which external fertilization takes place.

(7) One day, Ramesh was standing in the kitchen with his mother who was
cutting onions for making vegetables. He observed that in some of
onion bulbs, green leaves appeared on upper end & roots on the lower
end. In the evening, he shared his observations and discussed with his.
father, a Botany teacher. His father explained that in case of onion, new
plants develop through asexual reproduction.

Read the above passage and answer the following questions:-
i) What is the name of this type of Propagation?
i) Can this method be used for raising onion plants at home also.



iii) Name some other vegetables which are propagated by using
bulbs.

iv)  What value is displayed by Ramesh’s father?
Chapter 2- Sexual Reproduction in Flowering Plants

(1) Name the pollinating agent of flowers like salvia, sunflower. Give two
favourable features of such a flower for pollination.

(2) Give characteristics of insect pollinated flowers.

(3) Name the pollinating agents of flowers like maize and wheat. Give any
two characteristic features of such a flower.

(4) An anther with malfunctioning tapetum often fails to produge viable male
gametophytes. Give any one reason.

(5) Name the following structures
a) Single colytedon of the monocotyledonous embryo of grass family.
b) The portion of embryonal axis above the level of cotyledons in dicot

embryo.

¢) Occurrence of more than one embryo in a seed.
d) Seedless fruits produced without fertilization.

(6)ls it possible to store pollen grains. What do we call the process of
pollination using pollen grains of desired plant.

(7) Do you think that microspores & pollen grains are the same structures.
If they are different then what is the basic difference between them.

(8)Each pollen grains produces two male gametes. How many pollen
grains will be required to fertilize 4 ovules present in a particular carpel.
Give reasons. .

(9) A flower of tomato plant, following the process of sexual reproduction,
produces 200 viable seeds.

Answer the following question giving reasons:-



a) What would have been the minimum no. of ovules present in per-
pollinated pistil.

b) How many microspore mother cells would minimally be required to
produce requistic no. of pollen grains.

¢) How many pollen grains must have minimally pollinated the carpel.

d) How many maie-gametes would have used to produce these 200
viable seeds.

e) How many megaspore mother cells were required in this process.
Chabter—S: Sexual Reproduction in Humans.

1. Mention the target cells of LH in human males & females. Explain the
effect of the changes which the hormone induces in each case.

2. What are the major functions of male accessory ducts and glands.

3. Note the relationship between first two words and suggest suitable
word/words for the fourth place.

i) Testis: Spermatogenesis, ovary
ii) Male: Penis, female

i)  Ovary: Mesovarium, uterus

iv)  Man:Vasectomy, woman

" V) Interstitial cells: Testosterone, grafianfollicle cells

vi)  Menstrual Cycle: human female oestrous cycle

4. Explain the following-
a) Failure of testes to descend into the scrotum produces sterility.
b) Spermatids possess a haploid chromosome number.
c) The _15‘ half of menstrual cycle is called the proliferative phase as
well as the follicular phase. '
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5. When and where are primary oocytes formed in a human female. Trace
the development of these oocytes till ovulation (in menstrual cycle) how
do gonadotropins influence this developmental process.

6. In which part of the human female reproductive system do the following
events take place.

a) i. Release of 1% polar body
ii. Release of 2" polar body
iii. Fertilization
iv. 'Implantation _
b) From where do signals for parturition originate & what does maternal
pituitary release for stimulating uterine contractions for child birth.

7. Give reasons for following statements-

a) Parturition is also termed labour.

b) Early secretions from mammary glands of mother are very useful to
newly born baby. |

c) Testes in males are lodged in scrotum so as to lie outside abdominal
cavity.

Human Reproduction

1. Cleavage of mammélian egg is type and 16°celled
stage is called as

2. Study the flow chart given. Name the hormones involved at each stage
and explain their role. |

Ovulation —> pregnancy —> placenta —> foetal growth —>parturition —>
lactation.

3. Role of placenta is to

(A)Provide nutrition to developing embryo
(B) Protect embryo from shock

(C) Act as a storage organ
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(D) Convey nerve impulses

4. Gastrulation involves the differentiation of
a) Ectoderm & endoderm
b) Ecto, endo & meso derm
c) Mesoderm & endoderm
d) ectoderm & mesoderm
5. Gestation period in humans is
A) 10 weeks B) 25 weeks C) 7 months D) 9 months
6. Amniotic fluid protects the foetus from '
i) Shock ii) encystment iii) Degeneration iv) diseases
7. Allantosis of mammalian embryo helps in
A) Respiration B) Excretion C) Protection D) Nutrition
8. How many sperms are formed from a secondary spermatocyte -
A)4 B)8 C)2 &D)1
9. Site of fertilization in a mammal is
a) Ovary c) Vagina
b) Uterus d) fallopian tube
10. Withdraw! of which of following hormones is the immediate cause of

menstruation.

a) Estrogen b) FSH ¢) FSH—-RH d) Progesterone

10. Capacitation of sperms occurs in
a) Vas deferentia
b) Vas efferens
c) Female genital tracts
d) Vagina.
11. Which of the fdllowing hormones is not a secretion product of
human placenta
a) HCG b) Prolactin c) Oestrogen d) Progesteron
12. Cowper's glands secrete a substance to

a) Nourish sperms



b) Neutralize the acidity

c) Kills pathogens

d) Lubricate female vagina to facilitate copulation ( Tick correct options)
13. Accessory sexual characters in female is provided by

i) Androgens ii) Progesierone iii) Estrogens iv) Testosterone
14. Which part of ovary in mammals act as an endocrine glaﬁd after ovulation-

a) Vitelline membrane

b) Graffian follicle

c) Stroma

d) Germinal epithelium
Chapter-4 Reproductive Health Assignment

1. Name the most recent and improved programme in operation in India in
reproduction related areas & what is its aim.

2. What is the chemical constituent of oral contraceptive pills.

3. Why has amniocentesis been banned?

4. Give the causal organism of following STDs (1) Syphilis (2) Genital
Herpes.

5. a) Expand IUD
b) Why is hormone releasing IUD considered a good contraceptive to
space children.
6. A mother of one year old daughter wanted to space her second child.
Her doctor suggested CuT. Explain its contraceptive actions.
7. Why is MTP done- Is it legalized in India.
. 8. Discuss the problems and strategies of reproductive health in Human
beings.
9. Removal of gonads can not be considered as contraceptive options.
Why?
10. What are the measures one has to take to prevent from
contacting STDS.



